Indefinite and Definite asall g 33a43U)

The perfective is indefinite and the past is definite

Past perfect -4l =l After | had finished my homework, | played
football.
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The Past and the Progressive il ol 5 bl
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While | was writing, the phone rang Leadiul 13 4USH g8 el Saaall ol o)
A
‘é.l.é

When | entered the house, they were watching the TV.
What is the difference between?

The girl was drowning (&) in the lake sl (adi ulae Loy dleall oda 8,
La 35

The girl drowned in the lake <) ¢5 58 &
The Perfect Progressive <iwall 2Ull & juaall J2dll Have (has)+been+ verb
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It expresses limited duration (or incompleteness). See the difference in
the

following sentences Jeall & @l I il YIS aae l( 32500 330 e pmy
adul)

He has eaten my chocolates (they are all gone 4254 Y 5 4lils)



He was eating the chocolates (but | stopped him = JSL &) (e aaia Sin)

He has been eating the chocolates (but there are some left e 4u 1)
dxlad

Verbal meaning and the progressivea iuy | 5 J=dll as
The progressive occurs only with dynamic verbs or verbs in dynamic use.

Progressive does not occur in verbs with stative verbsidlall & Jadll alaasiul |
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The five classes of dynamic verbs cUsll aal (48 jadiall Jleddd dusedld) Sl |
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(1Activity verbs: ask, beg, call, drink Ll Jlaé) |

(2Process verbs: change, grow, slow down 4slee ¢ 48| jal Jladl || «
(3Verbs of bodily sensation: feel, hurt, itch awall )il Judl |«
(4Transitional event verbs: arrive, die, fall, leave, lose &laa¥) Jladl |
allany)

(5Momentary verbs: hit, dislike, knocka sll sl ¢ 4daslll J=a¥) |«
The two classes of stative verbs aStull Juad¥) iwé

(1Verbs of inert perception and cognition: believe, astonish, guess:
Forgive Jaill &l oyl Jlad) |

(2Relational verbs: be, belong to, consist of, contain, need Jdl .. . .«
5 eLaiiy)
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